Tower(a) 01TAO5, inclusive ADC a01TAO05
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Tower(a) 01TBO5, inclusive ADC
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Tower(d) 01TBO5 , ADC, tag: UxV 2*thr dO1TBO0O5
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Tower(a) 01TCO5, inclusive ADC a01TCo05

7 Entries 1793874
10" g Mean 0.0445
o RMS 1.309
W00 gy Integral 1.794e+06
F X2 [ ndf 1.254e+05/ 8
= S S Constant 9.338e+05+ 1110
F Mean -0.03982 + 0.00077
10 E | R T Sigma 0.7092 + 0.0006

10? ,;_ .................................................................................................................................................

10 ;_ _____________________________________________________________________________________________

N L O Y OO |

60 80 100 120
ADC-ped
Tower(d) 01TCO5 , ADC, tag: UxV 2*thr do1TCO05
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Tower(a) 01TDO5 , inclusive ADC a01TDO05
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Tower(a) 01TEO5, inclusive ADC
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Tower(a) 02TAO5, inclusive ADC
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Tower(a) 02TBO5 , inclusive ADC
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Tower(d) 02TB05 , ADC, tag: UxV 2*thr | d02TBO5
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Tower(a) 02TCO5, inclusive ADC
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Tower(a) 02TDO05 , inclusive ADC a02TDO05
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Tower(a) 02TEO5, inclusive ADC
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Tower(a) 03TAO5, inclusive ADC
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Tower(a) 03TBO5, inclusive ADC a03TB0O5
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Tower(a) 03TCO5, inclusive ADC
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Tower(a) 03TDO5 , inclusive ADC
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Tower(a) 03TEO5, inclusive ADC
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Tower(a) 04TAO5, inclusive ADC
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Tower(a) 04TBO5 , inclusive ADC
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Tower(a) 04TCO5, inclusive ADC a04TCo05
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Tower(a) 04TDO5 , inclusive ADC a04TDO05
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Tower(a) 04TEO5, inclusive ADC
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Tower(a) 0O5TAO5, inclusive ADC a05TAO05
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Tower(d) O5TAOQO5 , ADC, tag: UxV 2*thr | dO5TAO05
Entries 191
Mean 12.28
1T RMS 6.23
. Integral 190
/ - X? I ndf 29.28 /11
x0 10.42 £ 0.27
_________ aL 20+ 1.2
sigL 7.626e+04 £ 1
____________________________________________________ sigG_____2.48740.230

ADC-ped




Tower(a) 05TBO5, inclusive ADC
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Tower(a) 05TCO5, inclusive ADC a05TCO05
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Tower(a) 05TDO5 , inclusive ADC a05TDO05
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Tower(a) O5TEOS , inclusive ADC a0O5TEO05
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Tower(a) 06TAO5, inclusive ADC a06TAO05
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Tower(a) 06TBO5 , inclusive ADC a06TB05
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10 E Mean 0.1106
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Tower(a) 06TCO5, inclusive ADC a06TCO05
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Mean 0.1583 + 0.0010
''''''''''''''''''''''''''''''''''''''''''''''''''''''''''' Sigma 0.8577 + 0.0012
.................................................................. | R O
80 100 120
ADC-ped
Tower(d) 06TCO5 , ADC, tag: UxV 2*thr do6TCO05
: Entries 186
: [ : : Mean 9.78
""""""""" ey RMS 4,991
: : : Integral 186
""""""""""""""""""""""""""""""""""""""""""""""""""""""" x? I ndf 12.25/12
x0 8.098 + 0.183
""""""""""""""""""""""""""""""""""""" aL 29.64 + 3.36
sigL 7.796 + 21.984
sigG 1.636 + 0.161
ﬂﬂﬂﬁh....l‘l....l....l
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Tower(a) 06TDO5 , inclusive ADC

=
o
o

[EEN
o
”

w

[ERN
o

a06TDO05
Entries 1793874
Mean 0.2325
RMS 1.788
Integral 1.794e+06
X2 [ ndf 2.27e+05/ 8
Constant 5.219e+05 + 556
Mean 0.07203 + 0.00098
Sigma 1.189+ 0.001

10?

H_rmmT R R

..................................................................................................................................

i

RININ JlrLJL.H..Rb__*__

120
ADC-ped
Tower(d) 06TDO5 , ADC, tag: UxV 2*thr do6TDO5
I e e Entries 167
~ : Mean 12.79
~ RMS 6.924
20 [T fr Integral 167
— x? I ndf 7.252 /11
15 b U N x0 10.55+0.31
~ alL 19.34 +2.42
~ sigL 1.032e+05+ 47035
L S Sl H Al AU SRS M S sigG | _ 2.474+0.304
S — T
0 B 1 1 1 1 | 1 1 i_l 1 1 1 1 |
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Tower(a) 06TEO5, inclusive ADC a06TEO5
10° Entries 1793874
Mean 0.4265
] RMS 1.486
10 Integral 1.794e+06
X2 [ ndf 1.439e+05/ 8
10° Constant 1.009e+06 + 1786
. Mean 0.4116 = 0.0006
10 Sigma

10?

10

| IIIIIIﬂ] IIIIIIH]: IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIH]_

0.6483 + 0.0010

o

35

30

25

20

15

10

aL
sigL

100 120
ADC-ped
dO6TEQO5

Entries 196
Mean 12.22
RMS 4,718
Integral 195
x? I ndf 19.43 /12
x0 10.63+0.21

27.12 + 2.88
2.428e+04 + 25410

1.896+ 0.188

sigG
5 b ot N TSR N |
1 1 |_| 1 1 | 1 1 1 1 |
40 50 60




Tower(a) 07TAO5, inclusive ADC a07TAO05

S S SO OSSN S SN Entries 1793874
10 E : “ Mean 0.4125
- RMS 1.422
T [ Integral 1.794e+06
F X2 [ ndf 1.177e+05/7
10 = |y e Constant 8.527e+05+ 1198
L Mean 0.2945 + 0.0007
R e S A Sigma 0.7797 £ 0.0009

102 Sl | I s e

10 et L et M R

L 1N Ak T T T L

80 100 120

ADC-ped

Tower(d) O7TAQO5 , ADC, tag: UxV 2*thr | dO7TAO05

: : Entries 153
16 DI Mean 12.26
14 : Mg e RMS 7.133
~ Integral 153
12 L | x? I ndf 10.06 /5
10 ol x0 9.945 + 0.853
aL 13.78+1.64
8 [ R B s s sigL 1.246 £ 0.668
’ | S o SI9G___ 3.361+ 0.690
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Tower(a) 07TBO5, inclusive ADC a07TBO5
Entries 1793874
6
E Mean 0.1492
s RMS 1.605
W0 e Integral 1.794e+06
. X2 [ ndf 2.55e+05/ 8
W ey Constant 5.416e+05 = 702
. F Mean 0.09025 + 0.00120
e = [ S e S Sigma _1.127+0.001
10° ;— ' ' '
1ol
E

30

25

20

15

10 el e D SRR

ADC-ped
d07TBO0O5
Entries 191
Mean 11.72
RMS 8.102
Integral 191
x? I ndf 21.12/9
x0 8.695 + 0.287
aL 19.72 £ 2.62
sigL 2.516+1.081
sigG 2.459 + 0.357

ADC-ped




Tower(a) 07TCO5, inclusive ADC

10?

10

IIIIIIH]: IIIIIIﬂ] IIIIIIH]: IIIIIIII| IIIIIIII| IIIIIIH|_

.....................................................................

a07TCO05
Entries 1793874
Mean -0.04005
RMS 1.047
Integral 1.782e+06
X2 [ ndf 1.719e+05/ 8
Constant 7.638e+05 + 865
Mean 0.006472 + 0.000907
Sigma 0.8409 £ 0.0007

............................................................................................................................................

10

d07TCO05

Entries
Mean
RMS
Integral
x? I ndf
x0

aL

sigL

164

7.289

10.07

19

2.448e-12 /-2
2.56 +0.23

55.67+ 80.01
9.311+ 3530.626

sigG

0.02758 + 0.10558




Tower(a) 07TDO5 , inclusive ADC a07TDO05

100 Crm Entries 1793874
= ! Mean 0.01208
F T RMS 1.528
S = I S S Integral 1.794e+06
S x2 | ndf 2.102e+05 / 8
e e S Constant 7.618e+05 + 955
= Mean -0.1003 + 0.0010
e Sigma 0.8242 + 0.0008

T s L Tl A A .

10 et e M

ol ol oo nn.ﬁlﬁ.,.n ..... [H ...................... |

0 20 40 60 1oo 120
ADC-ped
Tower(d) 07TDO5 , ADC, tag: UxV 2*thr d07TDO5

: Entries 185
______________________________________________ Mean 11.55
RMS 6.38
______________________________________________ Integral 185
X2 | ndf 14.62 /15
______________________________________________ x0 10.29+ 0.23
aL 24.87 + 2.53
_______________________________________________________________________________________ sigL 2.677+ 0.858
sigG 2.021+ 0.169

1,11 |_| ar—i | I I T | L1 |

30 40 50 60
ADC-ped



Tower(a) O7TEO5, inclusive ADC

a07TEO5
Entries 1793874
Mean 0.3672
RMS 1.47
Integral 1.794e+06
X2 [ ndf 9.445e+04 / 8
Constant 1.086e+06 + 1593
Mean 0.3153 + 0.0006

Sigma

0.6203 + 0.0008

24

22
20
18

16
14

12
10

ﬂl_ﬂ_.ﬂ | O -
80 100 120
ADC-ped
dO7TEOQ5
: Entries 153
Mean 13.25
5 RMS 7.373
: Integral 153
| X2 | ndf 16.37 /14
i | X0 11.15+ 0.28
aL 18.54 + 2.64
sigL 6.979 + 25.795
: sigG 2.108 + 0.265
A u B P PR
40 50 60
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Tower(a) 08TAO5, inclusive ADC a08TAO05

- Entries 1793874
= Mean 0.273
- RMS 1.422
E Integral 1.794e+06
- X2 / ndf 1.703e+05/ 8
= Constant 1.08e+06 + 1845
~ Mean 0.2966 + 0.0006
=" Sigma 0.5961+ 0.0009

- | R T O |

80 100 120
ADC-ped
Tower(d) 08TAO5 , ADC, tag: UxV 2*thr d08TAO05

= Entries 242
e I Mean 10.21
' RMS 6.149
Integral 242
x? I ndf 29.54 /13
x0 9.284 £ 0.353
aL 18.93x2.24
sigL 2.739+ 1.895
sigG 3.589 + 0.528

10

.....................................................................
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Tower(a) 08TBO5 , inclusive ADC

10?

10

! IIIIIIﬂ] IIIIIIﬂ] IIIIIIH| IIIIIIH| IIIIIIII| IIIIIIH|_

a08TBO05
Entries 1793874
Mean -0.0207
RMS 1.486
Integral 1.794e+06
X2 [ ndf 1.648e+05/ 8
Constant 7.925e+05 + 924
Mean -0.1311+ 0.0009

0.8153 + 0.0007

Tower(d) 08TBO5 , ADC, tag: UxV 2*thr do8TBO5

— : Entries 125
16 Mean 11.17
- RMS 5.766
14 — Integral 125
1 - X2 / ndf 9.458 /9
= x0 9.297 + 0.260
10 — al 15.61+ 1.94
g siglL 0.9534 + 0.4804
- sigG 2.341+ 0.217

- ECICISEtRTR RSN B PSRN SRS | SSRRRRR REER SRR PPN PO PPN e
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2 :_ ................................................................................................

=" N N B
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Tower(a) 08TCO5, inclusive ADC a08TCO05
= : : : : Entries 1793874
10° = s SR o R Mean 0.5
= : : : RMS 0
T s N Integral 1.794e+06
= x? I ndf 5.341e-05/-2
O e | R R S Constant 1.799e+06 + 25561
= Mean 05+1.3
10° gt R S S Sigma 3.913+15.418
102 é_ ....... [ SO E ...................................................................................... ................................................
10 o ffoton SN SR S S SRS R—
| Lo Lo Lo T oo |
0 20 40 60 80 100 120
ADC-ped
Tower(d) 08TCO5 , ADC, tag: UxV 2*thr do8TCO05
— Entries 152
- i Mean 0.5
Mo e AR RMS 0
7] SR B NS — SNSRI TSR S Integral 152
- ! X2 / ndf 152 /-3
L i K R S R S S X0 0.5+ 1.4
— aL 0+0.0
S e I i sigL 0+1.4
60— e E .................................................. SIQG . 0+14
40 [ e ------------------------------------------------------------------ ----------------------------------------------
20 [ e 1 ------------------------------------------------------------------ ----------------------------------------------
0 : 1 1 1 1 1 1 1 1 i 1 1 1 1 | 1 1 1 1 | 1 1 1 i 1 1 | 1 1 1 1 |
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Tower(a) 08TDO05 , inclusive ADC

10?

10

| IIIIIIﬂ] IIIIIIﬂ] IIIIIIﬂ] IIIIIIII|bIIIIIIﬂ] IIIIIIH]_

a08TDO05
Entries 1793874
Mean 0.2619
RMS 1.664
Integral 1.794e+06
X2 [ ndf 1.415e+05/ 8
Constant 8.382e+05+ 1171
Mean 0.1569 + 0.0008

Sigma 0.7808 + 0.0009

ADC-ped
Tower(d) 08TDO5 , ADC, tag: UxV 2*thr do8TDO5

- : : Entries 166
22 =" | Mean 13.49
20 == RMS 7.642
18 £ Integral 165
16 : X? I ndf 12.41/13
uE- .| x0 11.34+0.35
12 = § aL 16.96+£1.92
E | sigL 29.21+ 289.12
. = sigG | 2.745 + 0.285
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Tower(a) 08TEOQS , inclusive ADC a0O8TEO5
o [ Entries 1793874
10 = Mean 0.4965
s RMS 1.472
10 = Integral 1.794e+06
F x? I ndf 1.054e+05/ 8
0 e Constant 9.028e+05+ 1309
F Mean 0.3764 = 0.0006
10 = Sigma 0.7413 + 0.0009
10° .;—
10 =
1

Tower(d) O8TEO5 , ADC, tag: UxV 2*thr dO8STEO5
25 — : Entries 149
Z Mean 11.41
— RMS 4.769
20— Integral 149
— x? I ndf 9.688 /11
15 x0 10.03+0.14
- aL 18.21+ 15.56
- sigL 6.466e+04 + 74210816
10 [— sigG 2.351+0.361
5 I e e . SRR —— S
0 L A R B
210 40 50 60




Tower(a) 09TAO5, inclusive ADC

10*

10

10?

10

| IIIIIIH]: IIIIIIH]: IIIIIIII| IIIIIIH]: IIIIIIﬂ] IIIIIIII| I

kb

........................................................................................

................................................................................

fL.[LJL ...... H.l...JL ...... o

a09TAO5
Entries 1793874
Mean 0.3632
RMS 1.436
Integral 1.794e+06
X2 [ ndf 1.207e+05/ 8
Constant 1.187e+06 + 1598
Mean 0.352+ 0.001
Sigma 0.5589 + 0.0006

Mﬂ nnJ ........... n'l ................ ﬁ;

25

20

15

10

0 20 60 100 120
ADC-ped
Tower(d) 09TAO5 , ADC, tag: UxV 2*thr | d09TAO05

- Entries 173
Mean 13.19
RMS 7.953
""""""""""""""""""""" oL ntegral 173
X2 / ndf 9.254 /11
_____ i X0 10.45+0.24
| aL 22.18+2.35
i sigL 1.077 £ 0.347
----------------------------------------------------- sigG 2.255 + 0.207

J_|7|_"||J_||—||‘| |‘|| =, i. |

20
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Tower(a) 09TBO5, inclusive ADC a09TBO5
S O SO SO SR Entries 1793874
= Mean 0.4959
. RMS 1.529
107 Integral 1.794e+06
E X2 [ ndf 1.065e+05/ 8
= S S S Constant 7.628e+05+ 993
. — Mean 0.4071+ 0.0007
10 S T Sigma 0.877; 0.001
102 ,;_ ........................................................................................................................................................
10 L LT TR T R ----------------------- frosss e :
80 100 120
ADC-ped
Tower(d) 09TBO5 , ADC, tag: UxV 2*thr d0o9TBO5
: Entries 204
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10

0

Mean 10.95
RMS 5.306
Integral 204

x? I ndf 17.4/ 13
x0 9.768 £ 0.218

aL 25.28+ 2.49
sigL 0.9979 + 0.3036

sE f | S

sigG _ 2.456%0.183




Tower(a) 09TCO5, inclusive ADC

10°

10?

10

| IIIIIIII| IIIIIIH]: IIIIIIH]: IIIIIIII| IIIIIIII| IIIIIIH|_

a09TCO05
Entries 1793874
Mean 0.06365
RMS 1.506
Integral 1.794e+06
X2 [ ndf 1.851e+05/ 8
Constant 7.492e+05 + 925
Mean -0.04305 + 0.00091

Sigma 0.8512 + 0.0008

30:—
25 —
20 —
15—

10 —

d09TCO05
Entries 213
Mean 11.72
RMS 6.222
Integral 213
x? I ndf 18.57 /10
x0 9.123+ 0.226
aL 26.46 + 1.26
sigL 6.875e+05+ 1

.......................................................................................

sigG _ 1.951:0.143




Tower(a) 09TDOS , inclusive ADC a09TD05
. Entries 1793874
10 Mean 0.4088
. RMS 1.323
10 Integral 1.794e+06
X2 / ndf 9e+04 /7
10 Constant 1.139e+06 + 1593
. Mean 0.3525 + 0.0005
10 Sigma 0.5931+ 0.0007
10? . .
10
1

30

25

20

15

Tower(d) 09TDO5 , ADC, tag: UxV 2*thr do9TDO5
: Entries 191
Mean 10.26
RMS 4,588
Integral 191
x? I ndf 20.07 /10
x0 9.032+ 0.192
aL 30.08 + 2.84
sigL 1.054 £ 0.384
. | sigG 1.853+0.164
10 o
5 ........................................................................................................
== 1 Y = R = D
40 50 60

ADC-ped




Tower(a) 09TEO5, inclusive ADC a09TEO5

Entries 1793874
10° % ----------------------------------------------------------------------------------------- Mean 0.3402
~ RMS 1.352
L e Integral 1.794e+06
— X2 [ ndf 6.187e+04 / 7
[ A Constant 1.407e+06 + 1661
. — Mean 0.2786 + 0.0004
100 == B Sigma 0.4882 + 0.0004

102 I;_ ...................................................................................................................................

10 .;— ----------------- P T R TR R

1 _—.— | ||-IHH|-.—|—.| ---------------------- I- |-LI-I|-L[|-I-|_L—|-|J-|-|-| --------- TS ST l --------------------- l

0 20 40 60 80 100 120
ADC-ped
Tower(d) 09TEO5 , ADC, tag: UxV 2*thr | dO9TEO5

30 ———— - Entries 202
Mean 12.1
Do sSSSRURRON USRI USSR 4 N KOS WO SO RMS 5.668
: Integral 202
00 | x? I ndf 10.45/ 14
x0 10.65+0.24
: aL 23.92+2.35
s | sigL 2.362+1.211

10

sigG

---------------------- ---------------------- —=

2.506 + 0.245




Tower(a) 10TAO5, inclusive ADC

10*

10

10?

10

| IIIIIIII| IIIIIIﬂ] IIIIIIII| IIIIIIﬂ] IIIIIIﬂ] IIIIIIII| I

al0OTAO5
Entries 1793874
Mean 0.4915
RMS 1.34
Integral 1.794e+06
X2 [ ndf 6.245e+04 | 7
Constant 1.198e+06 + 1503
Mean 0.4328 + 0.0005

Sigma 0.5731+ 0.0006

. N |
100 120
ADC-ped
Tower(d) 10TAQO5 , ADC, tag: UxV 2*thr d10TAO05
22 = : Entries 148
20 E— Mean 11.91
Y= RMS 6.43
— Integral 147
= X2 / ndf 10.12/ 14
14 = x0 10.14 + 397070.03
12 B alL 19.01+ 396957.59
10 E— sigL 2.868e+04 + 1.0
=S sigG | 2.105+ 29768.811
6 RN S A S
4 ;_ ....................................................................................................
2 :_ ..............................................................................
0 : 1 1 1 | 1 1 1 1 | |_| |_| 1 1 |
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Tower(a) 10TBO5, inclusive ADC

l IIIIIIH]: IIIIIIH]: IIIIIIH]: IIIIIIH]:J}IIIIIIII| IIIIIIH|_F

al0TBO5
Entries 1793874
Mean 0.5011
RMS 1.474
Integral 1.794e+06
X2 [ ndf 3.135e+04 / 6
Constant 1.411e+06 + 1564
Mean 0.3906 + 0.0004

Sigma 0.4948 + 0.0004

ADC-ped
Tower(d) 10TBO5 , ADC, tag: UxV 2*thr d10TB0O5
— : Entries 221
35 — Mean 12.51
- RMS 5.766
30 — Integral 221
o5 == x? I ndf 10.69/ 18
= x0 11.02+0.22
20 aL 26.87+2.71
~ sigL 2.459 + 0.546
15 — sigG | | 2.365+ 0.202
10 Eev S A S S
S SR RN /AN AL S SO SN AN S |
0 : 1 —|_f_‘ 1 |_|_‘ l_i_l| 1 1 l_'_| 1 1 1 1 | 1 1 1 1 |
-10 40 50 60
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Tower(a) 10TCO5, inclusive ADC

10?

10

al0TCO05
Entries 1793874
Mean -0.03104
RMS 1.511
Integral 1.794e+06
X2 [ ndf 2.476e+05/ 8
Constant 6.536e+05 + 764
Mean -0.1627 £ 0.0010

Sigma 0.9382 + 0.0008

25

20

15

Tower(d) 10TCO5 , ADC, tag: UxV 2*thr d10TCO05
: Entries 196
Mean 11.37
RMS 7.6
Integral 194
X2 I ndf 8.054 / 10
x0 9.047 + 0.228
aL 24.59 + 2.61
sigL 1.749e+04 + 39779
: ! | sigG 2.216+ 0.192
10 e N B ML
S A SRR S
ool
40 50 60

ADC-ped




Tower(a) 10TDO5 , inclusive ADC aloTD05
o [ Entries 1793874
10 = Mean 0.4287
F RMS 1.496
10 = Integral 1.794e+06
F X2 / ndf 1.516e+05/7
10 = Constant 8.641e+05+ 1672
F Mean 0.3983 £ 0.0008
10 = Sigma 0.7533+ 0.0013
10 &
1

Tower(d) 10TDO5 , ADC, tag: UxV 2*thr d10TD05
— : Entries 224
30 — Mean 11.57
~ RMS 5.881
25 Integral 224
- X2 I ndf 14.98 /13
20 — x0 10.14 + 0.25
- aL 24.59 + 2.40
15 |— sigL 2.266 + 1.087
- sigG -2.739 + 0.256
10~ é f é
o S PO | AN S N T SRR o
0 . 101 . |_| P I A N I T S AT S S W
210 40 50 60
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Tower(a) 10TEO5, inclusive ADC

10?

10

| IIIIIIﬂ] IIIIIIﬂ] IIIIIIﬂ] IIIIIIII| IIIIIIII| IIIIIIII|

al0TEO5
Entries 1793874
Mean -0.02031
RMS 1.414
Integral 1.794e+06
X2 [ ndf 1.6e+05/8
Constant 8.546e+05 + 1003
Mean -0.1197 £ 0.0008

Sigma 0.7586 + 0.0007

Tower(d) 10TEO5 , ADC, tag: UxV 2*thr | d10TEO5
29 — : Entries 142
20 Fm oo ] Mean 12.2
IS =SS S IO 1 o W M RMS 7.709
— Integral 142
S S A A B S X2 I ndf 6.968 / 10
e e e e X0 9.53+0.29
12 R RSOOSR e aL 17.59 + 2.64
10 ............................................. S?gL 3.962e+05 + 35898828
oF i ‘ ____________________________________________ sigG_ 2.134 + 0.273
o3 ==UURUURRU SUORRU Y INSUUNS SUURN SSRUURRU OO SO ¥
4 AR R s iy
2 i i m IR I S AR
0 mocl o dliall o
: 0 30 40 50 60
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Tower(a) 11TAO5, inclusive ADC

10?

10

allTAO5
Entries 1793874
Mean 0.5059
RMS 1.572
Integral 1.794e+06
X2 [ ndf 1.267e+05/ 8
Constant 9.254e+05 + 1683
Mean 0.4065 + 0.0006

Sigma

| IIIIIIﬂ] IIIIIIﬂ] IIIIII[I]: IIIIIIII| IIIIIIII| IIIIII[I]_

0.7138 + 0.0012
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14

, W 1 O O O 1 O
80 100 120
ADC-ped
Tower(d) 11TAO5, ADC, tag: UxV 2*thr | d11TAO05

: : Entries 137
Mean 13.02
RMS 7.214
Integral 137
x? I ndf 18.91/14
x0 11.36 + 0.46

12
10
8
6

11.45+1.67
2.041e+05+ 170235
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3.248+0.474
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Tower(a) 11TBO5, inclusive ADC allTBO5

O O S SO SO Entries 1793874
10°E ' ' Mean 0.1282
 F RMS 1.501
e Integral 1.794e+06
F X2 [ ndf 1.672e+05/ 8
i = | S S Constant 8.755e+05+ 1271
F 5 5 5 5 Mean 0.04125 + 0.00093
10 E TR (o A T Sigma _ 0.7366 + 0.0009

102 ,;_ .......................................................................................................................... ........................

10 ot S

L I R O

80 100 120
ADC-ped
Tower(d) 11TBO5 , ADC, tag: UxV 2*thr d11TB0O5

— : Entries 135
20 B . Mean 14.14
18 RMS 9.086
16 Integral 134
14 x? I ndf 17.23 /13
x0 10.49+0.33
12 alL 13.82+1.90
10 sigL 1.291e+04 + 53194
8 , | , [ _SIgG _ 2.448+0.329
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Tower(a) 11TCO5, inclusive ADC

10*

10

10?

10

l IIIIIfﬂ]: IIIIIIH]: IIIIIfﬂ| IIIIIIH]: IIIIIIII| TTT

Constant
Mean

allTCO05
Entries 1793874
Mean 0.5811
RMS 1.423
Integral 1.794e+06
X2 [ ndf 5.779e+04 | 7

1.343e+06 + 1536
0.4724 + 0.0004

Sigma

" _.ﬂ.ﬂ ......... ..HL.H ................. L

0.5124 + 0.0004

80 100 120
ADC-ped
Tower(d) 11TCO5, ADC, tag: UxV 2*thr d11TC05
04 — : : Entries 123
oy =n Mean 12.02
20 E- 5 RMS 4.913
BE Integral 123
= x? / ndf 12.2/10
= x0 10.32+0.33
= aL 13.86 + 1.23
== sigL 1.076e+05+ 1
10 = sigG 2.467 + 0.362
B SRR N d - IS w0 S S . S—
0 : 1 |_| |_| 1 | 1 1 | 1 1 1 1 |
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Tower(a) 11TDO5 , inclusive ADC allTDO05

S Entries 1793874
10 Mean 0.2012
s RMS 1.536
W00 e Integral 1.794e+06
. X2 [ ndf 1.957e+05/ 8
W ey Constant 6.28e+05+ 791
. F Mean 0.09331+ 0.00090
et e i A Sigma _1.009+0.001

% 1 O ¥ S W — B

s W L R — S— R—

1 B vJ-l.—”-»J-l.-h-.l—.-ln—‘ ----------- l ---------------------- l

80 100 120
ADC-ped
Tower(d) 11TDO5 , ADC, tag: UxV 2*thr d11TD05

: Entries 132
18 Mean 10.74
RMS 5.73
16 Integral 132
14 X2 / ndf 13.91/13
12 x0 9.141+ 0.325
0 aL 15.43+2.29
! sigL 20.08 + 263.93
8 sigG_ 2.114+ 0.302

6 i oo L L
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Tower(a) 11TEO5, inclusive ADC

10?

10

! IIIIIIH]: IIIIIIH]: IIIIIIII! IIIIIIH]: IIIIIIﬂ] IIIIIIH|_

allTEO5
Entries 1793874
Mean 0.3264
RMS 1.571
Integral 1.794e+06
X2 [ ndf 6.319e+04 / 8
Constant 1.177e+06 + 1507
Mean 0.2317 £ 0.0005

Sigma 0.5826 + 0.0006

ADC-ped
Tower(d) 11TEO5 , ADC, tag: UxV 2*thr d11TEO5

29 — : : Entries 178
20 E— Mean 14.19
Y= RMS 7.293
— Integral 178
= X2 / ndf 17.72 /10
14 x0 11.61+0.28
12 aL 18.18 +2.13
10 E— sigL 1.546e+04 + 43602
= sigG | 2412+ 0.246

4 ;_ .............................................................................................

2 :_ ..............................................................................

: 1 1 | 1 1 1 |_| |

%0 50 60

ADC-ped




Tower(a) 12TAO5, inclusive ADC

10?

10

30

25

20

15

10

al2TAO05

o Entries 1793874
= Mean 0.3902
— RMS 1.662
= L Integral 1.794e+06
- X2 / ndf 1.809e+05/ 8
= i e Constant 6.912e+05 + 983
- Mean 0.3179 £ 0.0009
T R S A Sigma 0.9241+ 0.0011

ADC-ped

Tower(d) 12TAO05 , ADC, tag: UxV 2*thr | d12TA05

— R TR Entries 170
= ] Mean 14.65
T A e | T P RMS 7.575
— Integral 168
e A e x? I ndf 12.77 /12
— x0 11.23+0.08
— aL 21.57+ 14.94
e sigL 1.406e+05 + 561844032
= sigG 1.82 +0.14
—....|.|—|..|....ﬂ._|_!—\.mﬂ‘xni.n..in..m
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Tower(a) 12TBO5 , inclusive ADC al2TB05

] : : : : Entries 1793874

: ! ! Mean 0.1269
RMS 1.464
Integral 1.794e+06
X2 [ ndf 2.103e+05/7
Constant 1.34e+06 + 1738
Mean 0.213 £ 0.000

10*

10

Sigma _ 0.4684 + 0.0005

100 el g e e e i

1o ey e — s e e

1 T

40

o
60 80 100 120
ADC-ped

Tower(d) 12TBO5 , ADC, tag: UxV 2*thr | d12TBO05

Entries 210
Mean 11.23
RMS 5.723
Integral 208
x? I ndf 13.66 /10
x0 9.647 + 0.211
aL 27.42 + 2.80
sigL 1.118+ 1.198
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SigG_ _ 2.295+0.351
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Tower(a) 12TCO05, inclusive ADC

10?

10

25

20

al2TCO05
o S Entries 1793874
= Mean 0.3641
= RMS 1.762
= iy e e Integral 1.794e+06
- X2 / ndf 2.373e+05/8
= e Constant 5.495e+05 + 705
— Mean 0.185+ 0.001
T o B e Sigma 1.121+ 0.001
........................................................................... i P T
80 100 120
ADC-ped
Tower(d) 12TCO05 , ADC, tag: UxV 2*thr | d12TC05

— : Entries 142
I i A [ Mean 11.4
— RMS 6.606
ISR SRV AUV B FESRURUUURTRTUUTE AU A Integral 140
— x? I ndf 16.04 / 12
— x0 9.519+ 0.372

aL 14.18 £ 2.03

sigL 2.357e+05+ 250919

sigG 2.654 + 0.382

ADC-ped




Tower(a) 12TDO05 , inclusive ADC
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...................

al2TDO05
Entries 1793874
Mean 0.4498
RMS 1.522
Integral 1.794e+06
X2 [ ndf 1.511e+05/ 8
Constant 8.116e+05 + 1401
Mean 0.4024 + 0.0007
Sigma 0.8023 £ 0.0012

10?
10
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100 120
ADC-ped
Tower(d) 12TD05 , ADC, tag: UxV 2*thr d12TD05
— : Entries 121
20 Mean 12.05
18 RMS 7.355
16 Integral 121
" x? I ndf 3.796/ 15
x0 10.23+0.25
12 aL 17.6+2.2
10 sigL 2.797 + 1.396
8 , | , sigG_ _1.931+0.200
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Tower(a) 12TEO5, inclusive ADC

10?
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al2TEO5
Entries 1793874
Mean 0.2459
RMS 1.408
Integral 1.794e+06
X2 [ ndf 1.176e+05/ 8
Constant 8.718e+05+ 1179
Mean 0.2023 + 0.0008
Sigma 0.7626 £ 0.0008

Tower(d) 12TEO5 , ADC, tag: UxV 2*thr d12TEO5

— : : Entries 133
18— Mean 12.15
16 — RMS 6.941
14 = Integral 133
- X2 / ndf 9.16 /14
12 — x0 10.24 +0.32
10 E— aL 14.59 + 1.85
. = sigL 2.791+ 2.976
= sigG 2.58 +0.32
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[MPV gated W/ MIP_|

3 S S A S T —

-

025 03

mpv
Entries 10
Mean 10.27
RMS 1.34
Underflow 0
Overflow 0
Integral 10
i
30 35
MPV of ADC-ped
mpvE
Entries 10
Mean 0.04066
RMS 0.005386
Underflow 0
Overflow 0
Integral 10

err(MPV)/MPV




